


M/C BASE PLATE

LEAVE INDUSTRIAL ‘ .®
LEA'®

© Material: Cast Iron FC300(JIS) / GG30(DIN)
© Heat treated (Normalized)
o Application: Vertical Machining Center.

o Features: Ready to accept a hole pattern for your special jig.

1-1

BASE SERIES

B
C+0.01
E ‘
|
|
@ ? ©
|
B I B
| e
|
° ¢ A
+0.020
2-930+0.007

Locating hole

//10.02/300

| T0.02/300

50+0.02

M16 Cap-Screw hole
(Find in Page 7)

MODELNO. A B E F kg
BP01-50400-0600 | 400 88
BP01-50500-0600 | 500 | 600 |~ [ 106
BP01-50600-0600 | 600 127
BP01-50400-0800 | 400 | 800 113
BP01-50450-0900 | 450 | 900 S 142
BP01-50500-1000 | 500 | 1000 176
BP01-50600-1200 | 600 | 1200 ol | 256

*Special Design Welcome !

M/C BASE PLATE

o Material: Cast Iron FC300(JIS) / GG30(DIN)
o Heat treated (Normalized)
o Alignment Bushing: SUJ2(JIS) / 100Cr6(DIN) heat treated.
o Threaded Insert: S45C (JIS)/ CK45 (DIN), heat treated.

o MTP hole spacing: 50+0.02

o Application: Vertical Machining Center.
o Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

B A
B
B //10.02/300
E 50+0.02 an
| |
H |
Hog0 © 6 850 8 8 8918] o B K,
090 © & © 09 © © © 9 © SU
@F@@@@@'@@@@@J
» O OO OO e OO 6 B0
<|u & T & — T PiTy
N A AR AR A R G R R G O
o
3 OO © OO OO 0P DO +0.020
X i \— 2-930+0.007
T 198 @@@ @ @ @@@ @ @ % ? % Locating hole SVF
+——2@3 4 5 67 8 9
A © © © 00 0 0 & @
1
K10.02 M16 Cap-Screw hole
KxP (Find in Page 7) ALY
- 0125007 - 916:0015
| L OJ’:"
S 1 e | VISE
o 7 7
t ~N
l ‘ } D
M12x1.75 Miex2 | UTizs
Figure T
ol
fur
il
MODEL NO. A B CEF T K P S MTP kg MODEL NO. A B CEF T K P S MTP kg Datel
BP02-50400-0600-12 | 400 7| 96| 90 || BP02-50400-0600-16 | 400 71 96| 89
BP02-50500-0600-12 | 500 | 600 | - | - |- | @12 | M12 | 50 | 11| 9120 | 112 || BP02-50500-0600-16 | 500 | 600 | - |- |- | @16 | M16 |50 | 11| 9| 120 | 108
BP02-50600-0600-12 | 600 11| 144 | 134 || BP02-50600-0600-16 | 600 11| 144 | 120
BP02-50400-0800-12 | 400 | 800 1o Lo Lz | s0 15| 7128|109 || BP02-50400-0800-16 | 400 | 800 1oL a6 Lt | 50 15| 71128108
BP02-50450-0900-12 | 450 | 900 17| 8158 | 138 || BP02-50450-0900-16 | 450 | 900 17| 81158 | 134
BP02-50500-1000-12 | 500 | 1000 gt i | 50 191 91200 | 165 || BP02-50500-1000-16 | 500 | 1000 Lo 16 | e | 50 191 91200 | 164
BP02-50600-1200-12 | 600 |1200 23 | 11| 288 | 244 || BP02-50600-1200-16 | 600 |1200 23| 11| 288 | 240
*Special Design Welcome !
BASE SERIES 1=2



LEAVE INDUSTRIAL ‘ .®
LEA'®

M/C BASE PLATE

© Material: Cast Iron FC300(JIS) / GG30(DIN)

o Heat treated: Normalized

° Application: Vertical Machining Center.

© Features: T-Slots running in 2 directions, easily adapts to
standardized jig components.

M/C BASE PLATE

Material: Cast Iron FC300(JIS) / GG30(DIN)

Heat treated (Normalized)

Application: Horizontal Machining Center.

Features: Ready to accept a hole pattern for your special jig.

© © o o

5 A
53¢
//10.02/300
| _|0.02/300
B //10.02/300 P
I | | [0.02/300] Z| | ]0.02/300
T T T T T T T T T T T T LD C A\ioowz
1| 1| 1| 1| 1| 1| ‘ ‘
I | I | S | I | — N | I | SR | [ | S— P | |
OF 1E — S
T T AT © é ©
I I I I I I D_T It LJ‘ ‘LJ
Wl 0[BT St i
p— S ——— | S —— | L m) S —— | S ——— | I__ﬁ 7:9_
[~ r———7/" r———/7/" r i r—— /" r———7/" |
if i if i if i if i if i if i [To) Pl
m| T - = H— — 1 = @ N
il 1 il 1 il 1 il 1 il 1 il 1 L I
— | S —— | S —— L J | —— | S —— | EEp— L Q
R N N N - o O +—©- - - O %
I I I I I I g
if | if | if | i i i < SV
I I I I I I LL |
— | —— | S —— | L .} S —— | L — — — L —
DF 1D - i’—
I e apIr-T T |IrTT 71 7
I I I I I I
1 1 1 1 1 1 1 1 1 1 1
M16 Cap-Screw hole | & ' ALY
FxP (Find in Page 7) ? %
F+0.02 w M16 Cap-Screw hole 18
(Find in Page 7) +JP oK
! ! ! ! ! ! KE
\ k) k) b L \ Z ) L
I_H_Ih | | | | . | Tooz]Y] 3-M16 . VicE
d o
O ERS
v] -
Y
column|
joy
Tadilel)
MODEL NO. A B CD F P | kg MODEL NO. A B CD F P SH I kg Data)
BP03-60400-0600-14 400 13 92 || BP03-75400-0600-18 400 3] 18
BP03-60500-0600-14 | 600 | 500 | 60 | 14| 100 | 5 | 4| — | - | 115 || BP03-75500-0600-18 | 600 | 500 | 75| 18| 100 | 5 |4 |- | - | 147 ——
BP03-60600-0600-14 600 130 || BP03-75600-0600-18 600 5 173 MODELNO. A B € D 7.~ ko
BP03-60400-0800-14 | 800 | 400 | o | /| o0 _ |17 || BPO3-75400-0800-18 | 800 | 400 | o | o | o0 | T |, | | |15t BP04-50400-0400 | 50 | 400 | 320 | 55 4 57
BP03-60450-0900-14 | 900 | 450 168 || BP03-75450-0900-18 | 900 | 450 8 182 BP04-50500-0500 | 50 | 500 | 400 | 75 8 88
BP03-60500-1000-14 | 1000 | 500 | . |\ | o _ |/198 || BPO3-75500-1000-18 | 1000 | 500 | o | o |, 00| 94| | |228 BP04-50630-0630 | 50 | 630 | 500 | 100 8 140
BP03-60600-1200-14 | 1200 | 600 1 264 || BP03-75600-1200-18 | 1200 | 600 1|5 329 BP04-50800-0800 | 50 | 800 | 640 | 135 8 225

1-3

BASE SERIES

*Special Design Welcome !

*Special Design Welcome !

BASE SERIES 1-4



ATy,
e @ @ @ ® B B D
D D D B B D D B D
> & ® D D D D D B D
@ @ ® D B D D D B
P o B ® @ e B W
> DD DD D D D D D
® @ D D D D D D D @D
7 P D D D D D D

1-5 BASE SERIES

M/C BASE PLATE

o Material: Cast Iron FC300(JIS) / GG30(DIN)

© Heat treated(Normalized)
o Alignment Bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated.

LEAVE INDUSTRIAL ‘ .®
LEA'E

o Threaded Insert: S45C(JIS) / CK45(DIN), heat treated.
© MTP hole spacing: 50+0.02
o Application: Horizontal Machining Center.
o Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

| [0.027300]2] //10.021300
HxP _| [0.02/300
Hz0.02 A£0.02
| /T- MTP hole |
010 © @é@ o e o
J J
© 006 06 e o o Jd)
ICIR R RO RO RO O
® 00 OO0 OO0 &
D OO © © © O B B O o3
2% +tOo _——————©o+to i
QO VY © © O O © B e
|
N LRI IR R R R R R
S
3 (O 0O © ©| O & © & &
I 1 2 3 4 516 7 8 9 1
»@@@B@ (o RC NN R INC)
\\@A@ @ @?@ ® ® &
w M16 Cap-Screw hole
N C (Find in Page 7) »JA
Z
| [0.021300] Y|
© o e2R < sie00s
i S ‘ © \
°* | 9 il By a
D_|.D i 7/ R
3-M16 Mi2x175 | Miex2 |
Figure T
MODEL NO. A B C D T H P s MTp Yourtihg kg
BP05-50400-0400-12 | | 400 | 320 | 55| . (ol 0| 7| 7] 59| 4 54
BP05-50500-0500-12 500 | 400 | 75 9 9| 93| 8 83
BP05-50630-0630-12 | | 630 | 500 | 100 | (oo 0| o0 | 11 [ 11]139 ] 135
BP05-50800-0800-12 800 | 640 | 135 15 | 15 | 237 206
BP05-50400-0400-16 | . | 400|320 | 55| . |\l 0| 7| 7| 59| 4 52
BP05-50500-0500-16 500 | 400 | 75 9| 9| 93| 8 80
BP05-50630-0630-16 | . | 630 | 500 [ 100 | oo |\ (0 | 11 [ 11139 130
BP05-50800-0800-16 800 | 640 | 135 15 | 15 | 237 204

*Special Design Welcome !

M/C BASE PLATE

o Material: Cast Iron FC300(JIS) / GG30(DIN)

Heat treated: Normalized

Application: Horizontal Machining Center.

Features: T-Slots running in 2 directions, easily adapts to
standardized jig components.

©

©

©

AN
B
// 10.02/300
B T Jo02300]Z] [ J0.02/300
C A£0.02
| || CP
T T T T T T T T
A JE T
**ﬂirffffﬁ r****ﬁvrffffﬁ r****ﬂif** A
| | | | | | | | | |
i i i il I D-T S|0tS
| | Y - - S
 — — | — — =
A 1B Al i HiD &
| | | | | | | | | |
| | | | I | | | |
i‘, (AU I TSR ] Y] E » Iy
o (@] + & <
N U e e N T ™~ Pl
| | | | I | | | |
| | | | | | | | | |
] I | Y| 1R [ N [
; r———7"7 r————" r————1 r———71 ; o~ 7757
| | | | I | | | | o
| | | | | | | | | | o
) I - 37
AR ——— ——— ¢ : =]
[ Tl |T TIT Tl |T 1
‘ = T = : M16 Cap-Screw hole
] (Find in Page 7) »Lﬁ
Z ALY
| [0.02/300] Y]
HxP ‘
0),=
H+0.02 o VISE
| | | | ~
| gig 0.5 £l§ i
| ‘@ q\ fTE
DM ERS
E E 3-M16 Figure D
—
ol
Mounting fur
MODEL NO. S holes kg i :—A;ilu]::zl]
BP06-60400-0400-14 60 400 | 320 14 55| 80 44 4 56 Sak)
BP06-60500-0500-14 500 | 400 75| 100 8 90
BP06-60630-0630-14 60 630 | 500 14 100 | 125 4la 8 150
BP06-60800-0800-14 800 | 640 135 | 160 230
BP06-75400-0400-18 75 400 | 320 18 55| 80 44 4 68
BP06-75500-0500-18 500 | 400 75 | 100 8 108
BP06-75630-0630-18 75 630 | 500 18 100 | 125 4la 8 180
BP06-75800-0800-18 800 | 640 135 | 160 295

*Special Design Welcome !

BASE SERIES 1-6



LEAVE INDUSTRIAL ‘ .®
LEA'®

SQUARE TOOLING COLUMN

© Material: Cast Iron FC300(JIS) / GG30(DIN)

o Heat treated (Normalized)

o Application: Horizontal Machining Center.

o Features: Ready to accept a hole pattern for your special jig.
o Eye bolt & top cover included.

B
‘ D
ivavavBlll ‘
% &
+ .
one
m al +&+-—0—-—~-0+
s
.
| Tewzmwly)
VA
| To.02i300( Y[z
C

MODEL NO.

L [002/300[ 7]

g( M Cap-Screw hole

(Find in Page 7)

//10.02/300] z
[ To.02/300] Y

Mounting
holes

BP07-300300-0500 500 | 300 | 150 | 250 | 150 | 40 | 50 | M12 | M12 4 90
BP07-400400-0500 500 | 00 | 250 200 | 55|50 | M16 | M16 A 160
BP07-400400-0650 650 210
BP07-500500-0600 600 500 | 300 | 400 | 250 | 75| 50 | M16 | M16 8 250
BP07-500500-0750 750 310
BP07-630630-0700 700 | 630 | 350 315 | 100 | 50 | M16 | M16 8 400
BP07-630630-0850 850 460
BP07-800800-0800 800 | 400 | 500 400 | 135 | 50 | M16 | M16 8 680
BP07-800800-1000 1000 800
BP07-10001000-1000 | 1000 | , | 500 | 165 | 55 | M20 | M16 g 1164
BP07-10001000-1250 | 1250 1391

*Special Design Welcome !

SQUARE TOOLING COLUMN

o Material: Cast Iron FC300 (JIS) / GG30 (DIN)
o Heat treated (Normalized)

o Alignment bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated
© Threaded Insert: S45C(JIS) / CK45(DIN), heat treated

o MTP hole spacing: 50+0.02
o Application: Horizontal Machining Center.

o Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

o Eye bolt & top cover included.

o)
©

oo o ——

& t—

[z
1 [o0z500]Y]

//10.02/300

1 Jo.02300[ Y[z
C

PR
@@ o @
[oTRC @
@ & (]
®re @ o
Q@ @
@"@i@
©ce & 9O
@ & (]
1@ ®

@@Qg@@@@@w©

]

|—T- MTP hole

JAVAVAN

18

j
o | o

an

% M Cap-Screw hole

(Find in Page 7)

1 [0.02/300[Z]
- 01205 - 016018
ST < A
e 7 J
A vz
M12¢1.75 M16x2
Figure T

//10.02/300]

_| ]0.02/300|Y

c

KxP %

~
i+

o
o
)

X
K+0.02

—®: &

¢
®

oo
o e
PO
P
o:®
o0
o0

@ Q99O Q 99

\:\
18

OO OO0 -9

L~ 3-N

L2y

12520.04

L1 1-eeo00eeo0eoef

TN
&

MOELN., A B C D EFGKPS T W N up"edy
BPIBIBNABIL. | 500 1] 7]ot [wre e wz| o] ¢+ | o] sponsomoossonts | 50| s 0 0] 0| s 0] 1] 7 0
BPIBAIAOMBIL. | 500 P N O I 3 T T PR T R I El
BPIBAILAOMEEL . | 650 0 m| | mo]|seononmpaeshis | 60 0 1%
BPIBSIISNBIL . | 00 I ) ) S T I R R El
BPIBSIIBONTEL. | 750 12 R T n %
BPIBsEATILL. | T O ) ) T P R O P IR El
BPIBSUEBIL . | ) 1 O EEETE 4 W
BPIBBIIBLBIL. | 800 P S I I T TR P R P I El
BPIBIBOL N2 | 100 17 b8 | || seobaman o5 |1 i m
BPIBNOONI002 | 100 P O R P R O T R &
BPIBNOINO25012 | 250 0 e] 1501 eeueomnno 25046 50 1 1

*Special Design Welcome !

BN

ALY

0,
VISE

O ERS

Colts)
jor

yEchmes

BASE SERIES

1-8



SQUARE TOOLING COLUMN

© Material: Cast Iron FC300(JIS) / GG30(DIN)

© Heat treated (Normalized)

o Application: Horizontal Machining Center.

o Features: T-Slots running horizontally, key-way running vertically,
easily adapts to standardized jig components.

o Eye bolt & top cover included.

LEAVE INDUSTRIAL ‘ .®
LEA'®

g s T [002300]2]
ot | ‘ B
7/5‘2 é & J +(§).018 +0.018
H .
I LA™ 0
| ’ |
m| QO <—@-—:~—-—T—--6£
00 7 A
+ Figure K Figure J
X X
A AVAVAVAN M Cap-Screw hole
> (Find in Page 7)
1
//Tozrs00] //Tocersno 7]

| 0.02/300|Y|Z

| To.02300]Y

J -T Slots

e

KxS

. 18
150+0.04

Mounting

DOUBLE SIDED TOOLING COLUMN

© ©6 © o o

MODELNO. A B C D E F G M N KSJ " jg| WNODELNO. A B C D EF G N N KS§J"my
SPOSAGACTENE | 5001 o0 gt 20 | 200 | 55|50 e w102 | 4 [ 100 {|BPOHOUOOI00E | 001t oo g | 551 50w s | 00 [ 19 ¢ |-
BPOS400400-0650-14 | 650 4 200 || BPOS400400-065018 | 650 4 190
BPUSSUOSO0060014 | 00| oo Vo g 350 | 75 a0 s g 10 [ 4] | g |21 [EPOSOS000008 | BN oot g0 | 75 {50 |t w00 i & |22
BPOS-500500-0750-14 | 750 5 300 || BPOY-50000-0750-18 | 750 5 290
SPOSSSOG0NMO01E | 10 o5 s | aun 15 100 50 | w1 0| g [ EPOOO0S0ONON8 | U0 oo o s | 100 50 | e | 125 1| & |
BPO9-630630-0850-14 | 850 5 460 || BPOS-630630-0850-18 | 850 5 450
BPUCBOOBODABN0 1 | 800 oo oo | oo | ann | 135 {50 | e g 1s0 | L] | g S0 | BPOS0OB0O0B0TE | 8001t oo | 15 50 s e 130 [ 18| 8 |2
BPOS-800800-1000-14 | 1000 5 800 || BPO9-800800-1000-18 | 1000 5 790
BP0S-10001000-1000-14 | 1 1146 || BP09-10001000-1000-18 | 1 114

OSHONDIONCOOE18 1 10001 v oo |0 | 500 | 165 |5 wao |t | 160 L | 5 0| BPOSHOOOTOOOTO00TBL 000 oo oo s 65|55 o s 10| 8| 8 L]
BPOS-10001000-1250-14 | 1250 6 1358 || BPO9-10001000-1250-18 | 1250 1358

*Special Design Welcome !

1-9 BASE SERIES

Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)
Application: Horizontal Machining Center.
Features: Ready to accept a hole pattern for your special jig.
Eye bolt & top cover included.

BPA
B [ Jo.02/300]Z] BG
D ‘
7 S S N
P’
VL[ }
o A +—i—- o —t 1
{ JTL
SU
G S g
M Cap-Screw hole
~ (Find in Page 7)
z P
| J0.021300] Y] //10.02/300[Z
L 0.02/300|Y
H . Cc
‘ | ‘ |
‘ ‘ SV
‘ ‘ ALY
< I |
‘ ‘ /3'N
| © | o OK#
i ‘ = ‘ = VISE!
o { . |
) FlF e ] = f
E | | }
Fr— D) ER
MODEL NO. A B C D E F G H M N Punind kg
BP10-300300-0500 500 | 300 | 80 |250|150| 40|50 | 300 | M12 | M12 4 115
] ] Goyumn|
B0t 107000500 500 | 400 | 150 | 320 | 200 | 55|50 | 400 | M16 | M16 4 0 for
BP10-400400-0650 650 215 gechnicall
BP10-500500-0600 600 | 500 | 200 | 400 | 250 | 75|50 | 500 | M16 | M16 6 270
BP10-500500-0750 750 350
BP10-630630-0700 700 | 630 | 250 | 500 | 315 | 100 | 50 | 630 | M16 | M16 6 445
BP10-630630-0850 850 520
BP10-800800-0800 800 | 800 | 300 | 640 | 400 | 135 | 50 | 800 | M16 | M16 6 675
BP10-800800-1000 | 1000 815
BP10-10001000-1 1 1162
0-10001000-1000 | 1000 | 5 | 35 | 800 | 500 | 165 | 55 | 1000 | M20 | M16 6 6
BP10-10001000-1250 | 1250 1377

*Special Design Welcome !

BASE SEries 1-10



DOUBLE SIDED TOOLING COLUMN

o Material: Cast Iron FC300(JIS) / GG30(DIN)

LEAVE INDUSTRIAL ‘ .®
LEA'®

o Heat treated (Normalized)

o Alignment Bushing: SUJ2(JIS) / 100Cr6 (DIN), heat treated
o Threaded Insert: S45C(JIS) / CK45(DIN), heat treated

o MTP hole spacing: 50+0.02

o Application: Horizontal Machining Center.
o Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

o Eye bolt & top cover included.

O+ O m

-—O—

L [0027300]Z]

M Cap-Screw hole

(Find in Page 7)

KxS

K+0.02

® P09 O P G-
(IR R A A R
© OO DePe 0-9
® OO DeDS 0@

®

® O Q® PO

25+0.04

/T- MTP hole

12

16

0.025 +0.02!
120015 - 61610015

o Al

A

7 LA

T
M16x2

oﬁrr\
* e [l =

Figure T

//10.021300]z

| |0.02/300| Y

C

R
|

/B-N

DOUBLE SIDED TOOLING COLUMN

Material: Cast Iron FC300(JIS) / GG30(DIN)

©

© Heat treated (Normalized)

©

©

©

Application: Horizontal Machining Center.

Features: T-Slots running horizontally, key-way running vertically,
easily adapts to standardized jig components.

Eye bolt & top cover included.

MODELNO. A B C D EFGHKPS T N NWP'H ig| WOOELNO. A B CDEFGHKPS T W Nuphy
BPH-00050M2. | 500 % 110 [BPtr-300s00050046 | 500 FCINEIEIEE W2 |z | % 105
BPH00A0008002 | 500 | | 6] ptononagiots | s alnlslal wlsl L N
BPH4000006M2 | 650 | | 2o | iomonceaite | e 11 0
BPHSOS0006002 | 600 EINE G alal 5ol alalil ]
BSOS | 750 ) 55 | et snamnarants | 790 ) W
BPHS0BN2 | 7 2 5] | BPS0670046 | 7 2 !

skt | o0 EIE EE alsslulol wlol EIE]
BPHSE 02 | 850 w 516 || st senaesnts | o9 ) 506
BPHS00800080042 | 800 EINE EEE T alallolmlale Ja) |
BPHS00B0-0002 | 100 ) a00 || ett-S0annonns |0 7 ) 790
BPH-A0001000-000-2 | 100 o] | ep] | epr-tootonntone16 | 1om R

o 800 500 16555 | 10050 | 8 b—] § |—
BPI-10001000-1250-12 | 1250 g {197 | [ept-totonn-os0-6 | 1250 w1

B [ Jo.027300]Z]
‘ D ‘
| ‘ |
7SN SN
/L/ e | 7
& . v /
|
o o +t—-HotH-—t{— |
| 2
T hd Figure P
e ¢ s
' M Cap-Screw hole
(Find in Page 7)
//10.02/300| Z
i | 0.02/300|Y
‘ - Cc _
\ \ |
________________________ e i o
——————————— 9750 A £
(72}
—— Sl & B |
< N
------------------------ I {:/34\1
_______________________ . =i & £
~ (=} |
=
o | ° ! 2,7' I l< ;:'j
e e Ll
MODELNO. A B C D E F G M N H J KS"™ | NODELNO. A B CDEFG M NHJKSW™y
BPIAOMEIN4 | 50| L s P P 2 T P P 3], [
BPIZ0M006504 | 650 4 20 | BPIZ-A0M00065018. | 650 4 il
BPIOSHSOMEOL 4 | 80 | eoliliol ¢ [ 20| eProssoniOnte | 600} ol ]
BPrAUSINTANY | 50 5 395 | BPI250050047548 | 750 5 05
SRRSO 4L ™01y gt ot 00 |t | o1 25| g || SPZOUOAMTOTS L TOL gy M |2
BPIZNEN0 | 80 5 515 || BPIZ06300850-8 | 80 5 0
EPYRSROCBIS S0} o |t 5 5 | i | o 1| 50| g |- CTofLEF CHOROCLTE | BV} | 4
BPAZ00B00-1000-4 | 100 5 790 | BP12:B00800-1000-8 | 100 5 18
BRI 1000 o s s s oo L5 158 BPZ100MOOBI00M8 0 1 e 5] |18
BPAZA0001000-1250:44 1260 B | 1975 BRI20001000-125048 | 125 E

*Special Design Welcome !

1-11 BASE SERIES

*Special Design Welcome !

BASE SERIES 1-12




= LEAVE INDUSTRIAL ‘ .® et LEAVE INDUSTRIAL
LEAE
BP13 X

MODULAR TOOLING COLUMN

© Material: Cast Iron FC300(JIS) / GG30(DIN)

o Heat treated (Normalized)

o Application: Horizontal Machining Center.

o Features: Modular quick-change system, simple 3 point mounting
, use with BP14 & BP15 subplates.

° Eye bolt, top cover & side covers included.

SUB-PLATE

Material: Cast Iron FC300(JIS) / GG30(DIN)

Heat treated (Normalized)

Application: Modular quick change subplate, use with BP13.
o Features: Ready to accept a hole pattern for your special jig.

©

©

©

b i BPA

A BC
| [0.02300]Z]
E A
AVAVAVA i
e e @ 2358 = —— | ———-—o—-» Iy
“n I . 9 ‘ 9 M16 Cap-Screw hole 63010929 //10.02/300
@ e E] ol le (Find in Page 7) Locating hole L [0.021300] ] S0
< T P i |
D
. Sy : o C+0.02
~ 11 Figure K ‘
= | | . - | w7 | |
w i
i g — —&———0
e 8 | |
VAVAVAN l M16 Cap-Screw hole
| (Find in Page 7) ' : J J
; X ' SVF
1 [0.02/300] Y| //10.02/300]Z -
| To.02300]Y L
G B | |
| | |
PV I | | \LY
° (..\ ® ° . Ll @__—__é__—__@ o FALS
S : T '\3 / | L
NS
3 ~ | i |
i © ! ‘ ! OKE
\_ J ! \_ J IR VISE
o ® «T ® &) ‘ |
4 N\ ) . 5 , ,
| S
| Taits | | OTHER
‘ M16 - |
Y 2R @Q—-— T - —"—© |
® | ] . / r‘ w PAVAVAY e
e I 2 ‘ ° I B Il j br
! ! ﬁ {EChNIC]}
FF_| 25 Yo
[v]
Mounting Mounting
MODELNO. A B C D E F G | Mulng MODELNO. A B C D E F Mounting 4
BP13-400400-0450 | 400 | 130 | 400 | 50 | 320 | 55 | 350 | 70 4 125 BP14-40400-0400 | 400 | 400 | 40 | 350 | 350 | 370 5 46
BP13-500500-0555 | 500 | 150 | 500 | 55 | 400 | 75 | 450 | 75 6 178 BP14-40500-0500 | 500 | 500 | 40 | 450 | 450 | 470 7 72
BP13-630630-0690 | 630 | 220 | 630 | 60 | 500 | 100 | 580 | 80 6 350 BP14-40630-0630 | 630 | 630 | 40 | 580 | 580 | 600 7 114
BP13-800800-0860 | 800 | 250 | 800 | 60 | 640 | 135 | 750 | 80 6 515 BP14-50800-0800 | 800 | 800 | 50 | 750 | 750 | 770 7 232
*Special Design Welcome ! *Special Design Welcome !

1-13 BASE SERIES BASE SERIES 1-14



LEAVE INDUSTRIAL ‘ .®
LEA'E

SUB-PLATE

o Material: Cast Iron FC300(JIS) / GG30(DIN)

° Heat treated (Normalized)

o Alignment Bushing: SUJ2(JIS) / 100Cr6 (DIN), heat treated

o Threaded Insert: S45C(JIS) / CK45(DIN), heat treated

© MTP hole spacing: 50+0.02

o Application: Modular quick change subplate, use with BP13.

o Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

+0.025

- 0121087 - 916:0.018

SALG A7
A AT AL
s AW 7
x :
T o— — H B O — - —T M12x1.75 | Miex2 |
Figure G
M16 Cap-Screw hole +0.020 /10021300
(Find in Page 7) $30+0.007 G -MTP | [0.021300] Y]
D Locating hole hole C2002
1 w7 ||
o0 & oo d
© 9 90 9 9 ©
S s
© 0 0loo 0o o
L
© © Qe 9 e e
" © © 0.0 9 @ @ "
> = = L
L X
© © 90 © © ©
ICBRCIRC IR AR
N
o
g @ @ @ ‘ © @ 0 e
© © 0'e 9 o e
3 4 5| 78 9
RS
I
; K0.02 -
KxP N
MODELNO. A B C D E F KPS G WP"A™ | MODELNO. A B C D E F KPS G MP"y
BPISADADNIL 12| 400 | 400|350 |30 970 | 7] 7] ([ 88| 5 | 421 BPISA0AO0bO06 |40 |40 | |0 380 30| [ 7] 7] |5 | 4
BP15-40500-0500-12 | 500 | 500 | | 450 450|470 | " | 9] 9 %| 7 | 69| BP15-405000500-16 | 500 | 500| | 450|450 |470] | 9] ¢ 0 7 |6&
BPISA0BMGSI12 | 69 630 40 560|580 600 | f1] 4| . (. [198 | 108 | BPISAOGR00630 | 630 | 69|40 | 580 | 560 600 ||t | |18] - |105]
BP15:50800-0800-12 | 800 | 800 | 50 750 | 750 770 | ™ | 15 15 250 220 || BP15:50800-0800-18 | 800 800 50 750 | 750 770| | 15 15 246 25

*Special Design Welcome !

1-15 BASE SERIES

ROUND BASE PLATE

Material: Cast Iron FC300(JIS) / GG30(DIN)

Heat treated (Normalized)

Application: NC Rotary Table or Indexer.

Features: Ready to accept a hole pattern for your special jig.

©

©

©

©

[7]0025300]
D10.01 /0021300
C 50+0.02

D0.01

o

+0.020
5-30+0.007

Locating hole

PA

B Cap-Screw hole
(Find in Page 7)

MODEL NO. A B c D kg

BP16-50-0300 | 300 MA12 150 | 220 | 25

BP16-50-0400 | 400 250 | 320 | 40
BP16-50-0500 | 500 M16 300 | 400 | 65
BP16-50-0600 | 600 400 | 500 | 95

*Special Design Welcome !

BN

ALY

DK
VASE

L

o

Uil

N
i)

ol
jor
JECHNICA]

BASE SERIES 1-16



= LEAVE INDUSTRIAL ‘ .®
LEA®

ROUND BASE PLATE

o Material: Cast Iron FC300(JIS) / GG30(DIN)

o Heat treated (Normalized)

o Alignment Bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated
® Threaded Insert: S45C(JIS) / CK45(DIN), heat treated

© MTP hole spacing: 50+0.02

o Application: NC Rotary Table or Indexer.

o Features: Alignment bushing & thread insert at every hole

ROUND BASE PLATE

Material: Cast Iron FC300(JIS) / GG30(DIN)

Heat treated (Normalized)

Application: NC Rotary Table or Indexer.

Features: T-Slots running in 2 directions, easily adapts to
standardized jig components.

©

©

©

©

location, easily adapts to standardized jig components. BPA
/710.02/300 BLS
//10.02/300
/70.02/300
GxS 50+0.02 //10.02/300
GxS :
G002 o D20.02 or
Ga® ~A-MTP “
/ hole e e F Cap-Screw hole
BB ind i
o @ (Find in Page 7) L SU
‘ B Cap-Screw hole :El
@ © © O @© © (Find in Page 7) ) )
I
+0.020
& ® @6 & 4-$20+0.007 {a— o
S %) o Locating hole 21
$°8 tdo— — ¢ -+ 0
O 9 QO 9@ @ 5 b -
' 503035 a €
- +0. - -
© @ @ ‘ © @ Locating hole SV
N ©—© © ST =1
g J -T Slots —
@) | (@] = \ ALY
o +0.020 -
2 E — #30+0.007 :"}
A Locating hole
sty T .- JISE
778 T ‘
ol 7 g7 OIHER!
‘ x <
| ;
M12x1.75 M16x2 .
. ol rmn]
Figure A Figure J, for
—_— ECHmCaT!
MODEL NO. A B C D E G S MTP kg
BP17-50-0300-12 300 | 150 | 220 5| 24 |23
@12 | M12 | M12 50
BP17-50-0400-12 400 | 250 | 320 7| 44 |42 MODEL NO. A B C D F G J kg
BP17-50-0500-12 212 | M12 | m16 500 | 300 | 400 50 9| 68 |70 BP18-50-0300-14 | 300 | 250 | 150 50 | m12 | 75 i 14 22
BP17-50-0600-12 600 | 400 | 500 11| 96 |98 BP18-50-0400-14 | 400 | 350 | 250 4 36
BP17-50-0500-16 216 | M16 | M16 500 | 300 | 400 50 9| 68 |68 BP18-65-0500-18 | 500 | 450 | 300 65| m16 | 100 | 4 | 18 74
BP17-50-0600-16 600 | 400 | 500 11 96 |95 BP18-65-0600-18 | 600 | 550 | 400 110

*Special Design Welcome ! *Special Design Welcome !

1-17 BASE SERIES BASE SERIES 1-18



SUB-PLATE

LEAVE INDUSTRIAL ‘ .®
LEA'E

° Features: Ready to accept a hole pattern for your special jig.

/710.02/300

//10.02/300

C+0.02

+0.020

(<>}
© Material: S45C(JIS) / CK45(DIN)
o - © Application: Multipurpose subplate.
- -
A
Ql 1+0.02
T
m T T—® — = i = =
E Cap-Screw hole

MODEL NO. A B CD E F H | kg MODEL NO. A B CD E F H | kg

BP19-30150-0200-12

200

BP19-30150-0300-12

300

150

30

12

M12

(Find in Page 7)

100

100

8.0

BP19-30150-0200-16

200

200

100

200

1.0

BP19-30150-0300-16

300

150

30

— 2-0D+0.007
Locating hole

16

e

M16

100

o

100

8.0

M/C ANGLE PLATE

©

©

©

©

200

100

200

1.0

BP19-30200-0200-12

200

BP19-30200-0300-12

300

200

30

12

M12

100

100

100

9.5

BP19-30200-0200-16

200

200

200

14.5

BP19-30200-0300-16

300

200

30

16

M16

100

100

100

9.5

200

200

14.5

BP19-30300-0300-12

300

BP19-40300-0400-12

400

300

30

40

12

M12

200

200

200

21.5

BP19-30300-0300-16

300

300

300

38.0

BP19-40300-0400-16

400

300

30

40

16

M16

200

200

200

21.5

300

300

38.0

BP19-40400-0400-12

400

BP19-40400-0500-12

500

400

40

M12

300

300

300

51.0

BP19-40400-0400-16

400

400

400

63.0

BP19-40400-0500-16

500

400

40

M16

300

300

51.0

400

300

400

63.0

*Special Design Welcome !

1-19 BASE SERIES

LEAVE INDUSTRIAL

Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)
Application: HMC / VMC

Features: Ready to accept a hole pattern for your special jig.

AN
3G
E
E/2 M16 Cap-Screw hole cp
| (Figure B) 926 =
ol & ¥ o
[ [ f |
[
| 51U
7
| I @ %18
© v
J | 7% Figure B of
D
B ‘ G
| o~
T T
I I
I I
I I
I | I
o o ALY
I I
I I
I I
o | o
N N OK®
(. (. VISE
o o JISZ2
o o
o | o
(e = ‘
- J L - E[ OHER!
C ‘ f
ol
jur
geehmean
MODELNO. A B C D E F G H Mumng
BP20-220300-0300 | 300 | 300 | 220 | 100 | 250 90 | 40 | 30 6 50
BP20-280400-0400 | 400 | 400 | 280 | 160 | 320 90
BP20-340500-0500 | 500 | 500 | 340 | 200 | 400 | 90 50 35 6 165
BP20-435630-0630 | 630 | 630 | 435 | 250 | 500 | 100 40 275
BP20-525800-0800 | 800 | 800 | 525 | 320 | 640 | 115 | 50 | 45 6 475

*Special Design Welcome !

BASE SERIES 1-20



LEAVE INDUSTRIAL ‘ .®
LEA'E

M/C ANGLE PLATE

o Material: Cast Iron FC300(JIS) / GG30(DIN)

° Heat treated (Normalized)

o Alignment Bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated

© Threaded Insert: S45C(JIS) / CK45(DIN), heat treated

© MTP hole spacing: 50+0.02

o Application: HMC / VMC.

o Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

M/C ANGLE PLATE

Material: Cast Iron FC300(JIS) / GG30(DIN)

© Heat treated (Normalized)

° Application: HMC / VMC.

Features: T-Slots running in 2 directions, easily adapts to
standardized jig components.

©

©

©

A
E ‘ 26 E _rj C
© T E/2
. El2 M16 ! -— M16 Cap-Screw hole
! ! ! Cap-Screw hole i (Figure B)
ol o ||&|™ | ol ¢ ||&
o1 26 s P’
‘ I
‘ [¥] Figure B o i ‘
o | | —_—— [m] |
| |
‘ ‘ - 8124007 - 16,0015 l /
| | o i = || | i / =
sh{ & He g naln eH_@ He |
w ~ ~ © Y w #18 Figure J
ey e < D M & rigure J
7‘ ‘ % | ; i qT-r‘ qT-r‘ hie Figure B
| B | M12x1.75 M16x2 ' K0.02 ‘ ‘ )
KxP Figure J. KxP | ] P
K20.02 [‘Gj ‘ B | | Jo.021300 Y|
0:0 © 0|0 © © © P L I LI B ’
o2oa 4|56 7 e e = = — S
©FO © ©, © © © @ | sVPhoe j} }r j} }r | j} }r ‘} }f
ete © ole o o B | T | | e
o - — T — =t
X o | OO © ©1 6 6 & & [ N AR Y L O O M [ A
x ; i if {1 if {1 if {1 ALY
a ! < < | | I ‘ I I (Q
< |loco © 0|0 © © © A (S N | =
 — —— — = 1
1086 & ©| 6 6 6 @ e A A 1 o
i i i il 2 o)/,
- | il i [ i 9 Q)<
O © © 6 © 6o o I i | I | I | X VISE
g ':' L —— | p——| L —— : A L _.:):.
3 . : i | | A, E
— "7 L L L L L L L L 4 T
| | c |
[v] | | OTHER:
MODEL NO. P s MTP “ourting g MODEL NO. A B C D E F G H J K L p s Muig yq
- - - - - - ol
BP21-220300-0300-12 | 300 | 300 | 220 | 100 | 250 90 | 40 | 30 | @12 | M12 | 50 | 75 5| 4| 30 6 50 BP22-220300-0300-14 | 300 | 300 | 220 | 100 | 250 90 160130114 | 100 | 50 2|2 6 53 T
BP21-280400-0400-12 | 400 | 400 | 280 | 160 | 320 7| 6| 56 87 BP22-300400-0400-14 | 400 | 400 | 300 | 160 | 320 3|3 101 Tadiil
BP21-340500-0500-12 | 500 | 500 | 340 | 200 | 400 | 90 50 35 212 | M12 | 50 751 9] 8] 90 6 173 BP22-350500-0500-14 | 500 | 500 | 350 | 200 | 400 | 90 | 60 | 35 14 100 | 50 44 6 170 Data
BP21-435630-0630-12 | 630 | 630 | 435 | 250 | 500 | 100 40 40 | 11| 11 | 144 300 BP22-450630-0630-14 | 630 | 630 | 450 | 250 | 500 | 100 | 65 | 40 125 | 65 295
BP21-525800-0800-12 | 800 | 800 | 525 | 320 | 640 | 115 | 50 | 45 | @12 | M12 | 50 | 75 | 15 | 14 | 240 6 477 BP22-550800-0800-14 | 800 | 800 | 550 | 320 | 640 | 115 |75 |45 |14 | 150 | 100 | 4 | 4 6 566
BP21-220300-0300-16 | 300 | 300 | 220 | 100 | 250 90 | 40 | 30 | @16 | M16 | 50 | 75 5 30 6 46 BP22-220300-0300-18 | 300 | 300 | 220 | 100 | 250 90 160 1301 18 1 100 | 50 2|2 6 51
BP21-280400-0400-16 | 400 | 400 | 280 | 160 | 320 7| 6| 56 85 BP22-300400-0400-18 | 400 | 400 | 300 | 160 | 320 313 96
BP21-340500-0500-16 | 500 | 500 | 340 | 200 | 400 | 90 50 35 216 | M16 | 50 75 9] 8| 90 6 170 BP22-350500-0500-18 | 500 | 500 | 350 | 200 | 400 | 90 | 60 | 35 18 100 | 50 4la 6 162
BP21-435630-0630-16 | 630 | 630 | 435 | 250 | 500 | 100 40 40 | 11| 11| 144 295 BP22-450630-0630-18 | 630 | 630 | 450 | 250 | 500 | 100 | 65 | 40 125 | 65 285
BP21-525800-0800-16 | 800 | 800 | 525 | 320 | 640 | 115 | 50 | 45 | @16 | M16 | 50 | 75 | 15 | 14 | 240 6 470 BP22-550800-0800-18 | 800 | 800 | 550 | 320 | 640 | 115 | 75| 45| 18 | 150 | 100 | 4 | 4 6 555
*Special Design Welcome ! *Special Design Welcome !

1-21 BASE SERIES BASE SERIES 1-22



1-23 BASE SERIES

LEAVE INDUSTRIAL ‘ .®
LEA'E

MC NARROW ANGLE PLATE

© Material: Cast Iron FC300(JIS) / GG30(DIN)
o Heat treated (Normalized)
o Application: HMC / VMC.

o Features: Ready to accept a hole pattern for your special jig.

1 Jooamoo] v}
<
|\
A 4
E B
MODELNO. A B C D kg

BP23-180100-0300 | 300 | 180 | 100 | 40 | 14
BP23-230100-0400 | 400 | 230 | 100 | 40 | 20
BP23-280100-0500 | 500 | 280 | 100 | 40 | 25

*Special Design Welcome !

+0.025

$16+0.015

12

MC NARROW ANGLE PLATE

o Material: Cast Iron FC300(JIS) / GG30(DIN)
© Heat treated (Normalized)

o Alignment Bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated
° Threaded Insert: S45C(JIS) / CK45(DIN), heat treated

© MTP hole spacing: 50+0.02

° Application: HMC / VMC.

° Features: Alignment bushing & thread insert at every hole

location, easily adapts to standardized jig components.

_F+0.04 |K+0.02

KxP

1A « o ® © © ©
| ; S = =
M12x1.75 M16x2 o (
Figure T Lo @ @ @ @
c 9E 1067
D Location-Bolt hole
50:0.02 |
@ @
/»TMTP hole
N
3 @ g a
\ <
5 [©|@
o
< \
< @ @ ()]
o
o L
+l
[Ye]
N~
— v
E B
MODEL NO. A B C D E F KPS T mTp Mounting g
BP24-180100-0300-12 | 300 | 180 2|4 10 6 12
BP24-230100-0400-12 | 400 | 230 | 100 {40 |12 |55 |50 |3 |6 | @12 | M12 | 14 8 19
BP24-280100-0500-12 | 500 | 280 418 18 10 23
BP24-180100-0300-16 | 300 | 180 2|4 10 6 13
BP24-230100-0400-16 | 400 | 230 | 100 | 40 | 16 |55 |50 |3 |6 | @16 | M16 | 14 8 20
BP24-280100-0500-16 | 500 | 280 4|8 18 10 24

*Special Design Welcome !

B AN

ALY

OKE
VISE

L

o

Uil

"
i)

column|
jor
JECHNICA]

BASE SERIES 1-24



————— LEAVE INDUSTRIAL ‘ .®
LEA®

RECTANGULAR CAST SECTION

© Material: Cast Iron FC300(JIS) / GG30(DIN)

© Heat treated (Normalized)

o Application: Cast sections provide a fast & economical way to
make special jig components.

° Features: Ready to accept a hole pattern for your special jig.

RECTANGULAR CAST SECTION

o Material: Cast Iron FC300(JIS) / GG30(DIN)

% Heat treated (Normalized)

o Alignment Bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated

° Threaded Insert: S45C(JIS) / CK45(DIN), heat treated

© MTP hole spacing: 50+0.02

o Application: Cast sections provide a fast & economical way to
make special jig components.

o Features: Alignment bushing & thread insert at every hole BPAY
location, easily adapts to standardized jig components.

G G 1002002 BC
AVAVAVA AVAVAVA —
. —® ﬁé @ [ AMTP hole
§; 1o | Gy
= \
—® @
L4
i // 0.02 ‘:)IU
i [ Joot1]y
_____T_____ E D+0.02
i 100+0.02 35 1000.02 Pl
feesl g | ;e |
. C - %L & E% 3 f gl | SVE

| A

35

| Il
T |
N | | ! !
= 0.025
g5 8 _____L_____ ____|+____ AMTP hole ¥ o 10.025
Nm | | Y Location-Bolt hole A
2 i : 1002002 #B 10012
35 ‘ w ‘ Location-Bolt hole
A+0.02 @ @/ OKe
S ‘ VISE!
‘ /1002 ‘ e 3
[ Joot[y g |
@
+0.025 +0.025
o o200 - $16+0.013 920 626 O ER
ST 70 7R 77
- . | hs ! | «~ N © Y ] oI mn|
+ .77 S N\ fur
M12:1.75 e || I o288 Iy o162 Tl
Figure A Figure B
MODEL NO. A B C D E MTP MouMing 4
MODEL NO. A B C kg BP26-200150-0150-12 | x| 1o | 4, | 150200 | | 15 10 |23
BP25-200150-0150 | 200 | 150 | 150 | 23 BP26-250150-0200-12 200 | 250 21 14 28
BP25-250150-0200 | 250 | 200 | 150 | 30 BP26-200150-0150-16 216 | M16 | 16 150 | 200 150 15 10 29
BP25-300200-0250 | 300 | 250 | 200 | 56 BP26-250150-0200-16 200 | 250 21 14 30
*Special Design Welcome ! *Special Design Welcome !

1-25 BASE SERIES BASE SERIES 1-26



T LEAVE INDUSTRIAL ‘ .®
LEAE

RECTANGULAR CAST SECTION

© Material: Cast Iron FC300(JIS) / GG30(DIN)

© Heat treated (Normalized)

o Application: Cast sections provide a fast & economical way to
make special jig components.

° Features: Ready to accept a hole pattern for your special jig.

RECTANGULAR CAST SECTION

o Material: Cast Iron FC300(JIS) / GG30(DIN)

© Heat treated (Normalized)

° Application: Cast sections provide a fast & economical way to
make special jig components.

° Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

B AN

G G B Cap-Screw hole 3¢
o &
I N/
—9C 1007
_{;} /| Location-bolt hole P,

50£0.02

50+0.02

//10.02 S
_| ooty

125+0.02

20 T
50 A Threaded \‘L\ Pl
' insert '
T | (}/ \ [

!
¢
@
|
//10.02
_| |0.01]|z
125+0.02

|

|

i
@i@
QOO

|

)

I

atl

r—.‘% 0 1 9 \ |
| 5 |
T - T
N o ALY
ST — — B I 1
=f i
=T 009 e
0) \&
S T + -0 VISE

I 099
20 |
T

125+0.02 w0025 o1 O ERS
7/T002 - ¢12:_8§$§ - $16+0.015 218
| [o.01]Y r , r | |
& N ! N =1 { \\\] | w | Q Soltisl)
) | ~ | i ! | 0
N TR \i TN INV o
| = )| % E o — : J':L'LIJJ]].'I'J]
f 920 | f $26 Bat)
Flgure C M12 Cap-Screw hole  M16 Cap-Screw hole
Figure B
MODEL NO. A B C kg
MODEL NO. kg BP28-125098-125-12 | M12 | M12 | 12 | 5.8
BP27-125098-125 | 6 BP28-125098-125-16 | M16 | M16 | 16 | 5.5

*Special Design Welcome ! *Special Design Welcome !

1-27 BASE SERIES BASE SERIES 1-28



CROSS TOOLING COLUMN

LEAVE INDUSTRIAL ‘ .®
LEA'E

© Material: Cast Iron FC300(JIS) / GG30(DIN)

© Heat treated (Normalized)

o Application: Horizontal Machining Center.

o Features: Ready to accept a hole pattern for your special jig.

o Eye bolt & top cover included.

_|_[0.02/300

:

z M16 Cap-Screw hole
L (Find in Page 7)
| //10.021300] [//10.02/300] 7
| ]0.02/300|Y |z | _|0.02/300| Y
C C
H H
] "
{ {
< | |
i ‘ | —3-M16
| ® | ®
L/ | L/ |
of [ ] o | o L] |d
) F \ F $ \ E \ ‘ 25
MODELNO. A B C D E F G Mouning kg
BP29-400400-0500 | 500 | , | oo | 300 | 200 | 55 | 50 | 125 4 154
BP29-400400-0650 | 650 188
BP29-500500-0600 | 600 | | 500 | 400 | 250 | 75 | 50 | 150 . 244
BP29-500500-0750 | 750 287
BP29-630630-0700 | 700 | oo | 350 | 500 | 315 | 100 | 50 | 200 8 373
BP29-630630-0850 | 850 424
BP29-800800-0800 | 800 | o | 500 | 40 | 400 | 135 | 50 | 300 8 648
BP29-800800-1000 | 1000 753

1-29 BASE SERIES

*Special Design Welcome !

CROSS TOOLING COLUMN

o Material: Cast Iron FC300 (JIS) / GG30 (DIN)
© Heat treated (Normalized)

o Alignment bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated
o Threaded Insert: S45C(JIS) / CK45(DIN), heat treated
o MTP hole spacing: 50+0.02

o Application: Horizontal Machining Center.
o Features: Alignment bushing & thread insert at every hole

location, easily adapts to standardized jig components.

o Eye bolt & top cover included.

_| [0.02300]Z]
- 812007 - 164005
o f o
©
o
t N
| -
M12x1.75 M16x2
Figure T
7 M16 Cap-Screw hole
Find in Page 7)
_| J0.021300] Y] (
//10.02/300(z
0.02/300] Y
//10.02/300 L
| |0.02/300|Y |z C
C E KxP §
H | Ki0.02
. |
B vy
© o © © o ©
Qe & e ©
@c & @c @
®r o o —T-MTPhole @ ®r 0 ©
@0 © ¥ g @0 ©
6 o 3 @0
x
oo o oc® & | —3M6
@ai ® @ai ®
© 0 © - = ©: 9 © o
| ~ < | ~
, S ,
O | I ® | @ t{.’_| I |<’,
Y JAVAVAY ' - ' |
v Flr e |l 2

MODELNO. A B C D E FGHEKPS T wp"™i| MOELNG. A B CDEFGHKPS T WPY™y
SPIOMLAOIILZ | S001 e Ln (a0 | 5150|125 |0 11| gt o |2 4 |54 BPEOAOOMIR0G | SO0} 1o o g 5|0 s 50| 1 | g s |24 & [0
BP30-4004000650-12 | 650 10 8 186 || BP30400400-0650-16 | 650 10 ) 18
POOSMISOO0012) 80| e g 0 | 75 50| 160 |0 2| gt o | 2 g |3 (BPEOSOOSIRIOG | 80 oo | 750 1050 2 |- g s ) 5 (247
BP30-500500-0750-12 | 750 1 156 293 || BP30-500500-0750-16 | 750 2 156 20
BPIOGKELTI2 | 100} cos | e son 315 100 |0 a0 50 |3 |- gt | o] g S8 | BPROGROBSDMLIE) 001 oo e 3t o0 50 00 |0 - g g e g |24
BP30-630630-0850-12 | 850 14 240 418 || BP30-630630-0850-16 | 850 14 20 i3
BPIOSNBILIR002) 80 oo e o | a0 | 135 |0 30050 | 51| gt [ |20 ¢ (40| BPECSOOBODIBALE) BU0) 1o a6 50 a0 | 0 5 - g g o g |2
BP30-800800-1000-12 | 1000 i 1 740 || BP30-800800-1000-16 | 1000 i I 73

*Special Design Welcome !

BN

ALY

OKE
VISE

L

o

Uil

"
i)

column|
jor
JECHNICA]

BASE SERIES 1-30



— LEAVE INDUSTRIAL ‘ .® LEAVE INDUSTRIAL
LEA'®

HEXAGONAL CUBE

© Material: Cast Iron FC300(JIS) / GG30(DIN)

© Heat treated (Normalized)

o Application: Horizontal Machining Center.

o Features: Ready to accept a hole pattern for your special jig.
o Eye bolt & top cover included.

HEXAGONAL CUBE

o Material: Cast Iron FC300 (JIS) / GG30 (DIN)

o Heat treated (Normalized)

@ Alignment bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated

© Threaded Insert: S45C(JIS) / CK45(DIN), heat treated

o MTP hole spacing: 50+0.02

o Application: Horizontal Machining Center.

o Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components. BPA\

o Eye bolt & top cover included.

B B
| [0.02300[Z] -
T Jo0z00[Z] o
é - 8124007 - 91610015 oo
of A1 o AN W
. m © W ‘ ? /
o
7 * A ! SU
| 2 =
M12x1.75 M16x2 \
Figure T
) 7 M16 Cap-Screw hole 2T
s M16 Cap-Screw hole (Find in Page 7)
j_ (Find in Page 7) //10.021300] z L
: | To.02/300]Y H //10.02/300]
H , C | KxP M’ﬂ SVF
] | | Kit0.02 | c |
I \
i @Jé ? OO0 o o oo o o
coo| @ @ |ooo o o o o o o
i 000 @“i @ |ooo o o oo o o “_\I__\j
0o o] @6 @ |ooo o o o o o o
i (Q 000 QFi @ |ooo o o oo o o
< | < X 8 000 @EI @ |ooo|—T-MTP hole o o oo o o
i /—3_M16 E 000 @0 : @ o o0 o o oo o o Ol’g"
o00| &c¢ [} 00 o o o o o o /73-M16 V_ES)‘E':
0 @Bi @,/ 000 o o of o o o
| 8 92 =8 @AT @ |ooo oo‘ o o o o o/o ©
[= ~ —
+
LS Y L L & [T o | %4+£% ﬁ]| p—— OFHER!
M FIF | E |l 25 v FlF E 25
Colts)
Mounting Mounting Mounting jor
MODEL NO. holes MODELNO. A B C D E F G H KPS T WPTI®Ikg| MODELNG. A B C D EF G HEKPS T WPYEY iy EEEeelmsy
BP31-400400-0500 | 500 400 | 250 | 320 | 200 | 55| 50 | 144 4 151 BPILAL0LAIL 2] S0 400|250 | 320 | 200| 55|50 144 | 50 1l@12 M12ﬂ 4 149/ | BRI 5] S0 400{ 250 320 | 200 | 55| 50| 14 | 50 1l016 M16ﬂ 4 il
BP31-400400-0650 | 650 183 BP32-400400-0650-12 | 650 1 122 180 || BP32-400400-0650-16 | 650 1 13 1
BP31:500500-0600 | 8% | 500 | 300 | 400 [ 250 | 75|50 | 173| & |2 CPORSOSOMRIO 201 gt | 75 | 1352 |~ i o ¢ 20N SPOLSIOIMRION S0} gy |y | 75 5 | 2 o g |l (2
BP31-500500-0750 | 750 272 BP32-500300-0750-12 | 750 12 yAl 267/ | BP32-500500-0750-16 | 750 1 yl 2
BP31-630630-0700 | 700 | oo | 350 | 500 | 315 | 100 | 50 | 202 8 361 EPIZESIGKOIMM2| 10 oo s 00 5 | 10 50 20250 2 || gt |t [ 2] g [ BPOLESIOSODMY 100 o o s | 10 50| a0 2 | gt i |22 ¢ [
BP31-630630-0850 | 850 408 BP3-630630-0850-12 | 850 14 m 407 | BP32-630830-0850-16 | 850 1 m 3%
BP31-800800-0800 | 800 800 | 500 | 640 | 400 | 135 | 50 | 289 8 619 EPUZEI0BDIEN 2| B0 800 500 { 640 | 400 | 135 | 50 | 289 | 50 4£012 M12ﬁ § |0/ | BPOZUIEIGBIL 6] &0 800 500 640 | 400 | 135 50 | 289 | 50 4£016 M16ﬂ 8 (0]
BP31-800800-1000 | 1000 713 BP32-800800-1000-12 | 1000 1 540 700 || BP32-800800-1000-16 | 1000 i 50 688
*Special Design Welcome ! *Special Design Welcome !

1-31 BASE SERIES BASE SERIES 1-32



1-33 BASE SERIES

LEAVE INDUSTRIAL ‘ .®
LEA'E

OCTAGONAL CUBE

© Material: Cast Iron FC300(JIS) / GG30(DIN)

© Heat treated (Normalized)

o Application: Horizontal Machining Center.

o Features: Ready to accept a hole pattern for your special jig.
o Eye bolt & top cover included.

(z
_| Jo.02/300

_|_J0.02300

:

M16 Cap-Screw hole
(Find in Page 7)

// 10.02/300
L [0027300] Y[Z] 77T0.02/300 | Z
C | [0.02/300|Y
R
= \ ‘ |
x x
< | |
i ‘ |/ —3-M16
| | e | 2
o [] o | o L] |d
) F \ F \ E \ ‘ 25 f
E T T
Mounting
MODEL NO. A B C D E F G H " g
BP33-400400-0500 | 500 | , 1 e | 00 [ 200 | 85 | 50 | 103 A 148
BP33-400400-0650 | 650 179
BP33-500500-0600 | 600 | o | 300 | 400 | 250 | 75 | 50 | 124 8 221
BP33-500500-0750 | 750 264
BP33-630630-0700 | 700 | oo | 350 | 500 | 315 | 100 | 50 | 145 8 350
BP33-630630-0850 | 850 395
BP33-800800-0800 | 800 | oy | 500 | 640 | 400 | 135 | 50 | 207 8 622
BP33-800800-1000 | 1000 711

*Special Design Welcome !

LEAVE INDUSTRIAL

OCTAGONAL CUBE

© Material: Cast Iron FC300 (JIS) / GG30 (DIN)

© Heat treated (Normalized)

o Alignment bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated

o Threaded Insert: S45C(JIS) / CK45(DIN), heat treated

o MTP hole spacing: 50+0.02

o Application: Horizontal Machining Center.

o Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

‘W” o Eye bolt & top cover included.
B [ Joozis00]Z]
D ‘
il \ §
pZs é N o o288 < e1en0r
ST < A1
@ ol | |
| :
M12x1.75 M16x2
Figure T
7 M16 Cap-Screw hole
Find in Page 7)
1 J002500]v] (
// 0.02/300 | Z
| {0.02/300|Y
// 0.02/300
| |0.02/300|Y|Z C
‘ c ‘ E KxP §
§ H E K+0.02
BERE sleT
oo 1@ | o o o o| @@ | o o
o o @I@ o o o o ©.© ()
o o| 1@ | o o o o| @9 | o o
o o @]@ o o /T- MTP hole %) oo @]@ B
1 > ~ 1
< o o @]@ o o X g o o @]@ o o
o o ©.© o/ o Q [ ©.© o o
oo 1@ Yo o o o| @9@ | o o /73-M16
o o @]I&/ o o @1@ o o
o o @1© o o © -~ @1@ o/ o ©
— (=) ~
o
. ol | | o | 494‘—‘4 ﬁ,ﬁl [ |<{4‘—‘1L
V—‘J: JAVAVAY T ? - T f
E 25
" FIF \ |
MODELNO. A B C D E FGHKPS T WP"Mif MODELNO. A B C D EFGHEKPS T g
BPSRAMLA00LZ | S00| e Ln (a0 | 5150 108 |0 1|t o |12 g |19 BPOCAOOABIBIOTG | SO0} oo g | 550 150 1 | g w2 4 [
BP3-400400-0650-12 | 650 10 176 175/ BP34-400400-0650-16 | 650 10 176 17t
BRSSO 2 80| o | g 0 | 75150 120 0 1| gt o |12 g [ 223 BPOVSOOSOBIRIOG | 800t | 750 v 50 1 |- s o) 3 (2
BP34-500500-0750-12 | 750 1 28 259 || BP34500500-0750-16 | 750 2 28 %5
630630-0700- 630630-0700-1 I
BPIRGKRSLOTO2 | T00) oy e stn 315 100 |30 | 10 50 |1 || gt [y | o] g [0 BPOVESOOSDOMTEN U0) b o st o0 50| 145 |0 1 -1 g | e g |41
BP3-630630-0850-12 | 850 1% 240 389 || BP34-630630-0850-16 | 850 14 240 384
BP34-800800-0800-12 1 4 11 || BP34-800800-0800-1 f 4 1
SLRIOB00 A2 BO0) v oo e ann |15 50| 07 (50 3 | g g | 8| g O |BPOHOUORIOOBOOE | 80 ot e e g | 135 50 o 50 3 s 12 5 |20
BP34-800800-1000-12 | 1000 i 576 97 || BP34-800800-1000-16 | 1000 i 576 685

*Special Design Welcome !

BN

ALY

OKE
VISE

L

o

Uil

"
i)

column|
jor
JECHNICA]

BASE SERIES 1-34



/ /

— LEAVE INDUSTRIAL ‘ .® \ LEAVE INDUSTRIAL
LEA®

H/CAST SECTION

© Material: Cast Iron FC300(JIS) / GG30(DIN)
o Heat treated (Normalized)
o Features: Easily adapts to standardized jig components.

H/CAST SECTION

© Material: Cast Iron FC300(JIS) / GG30(DIN)
% Heat treated (Normalized)
° Features: Easily adapts to standardized jig components.

B AN
3¢
A A
50 50 50 M
M | /
* ‘ Gy
I ! | m
| [—
“+ —+H-—-1
9 | 9 | & @ o/
~——o— ~——
o 8 +- + - - - o 3 = - = — — S0
(—i (—
N 'L___|
|
Q@ @ O =i D é@ D )
| | /
N Cap-Screw hole G N Cap-Screw hole 21
v%v AVAVAVA
©
R N
I b I SV
S f
?_; [a1]
m
| I
ALY
S &
G G
A A OKE
VASE!
- M16
- M12 —— - _M16
- i $20 | 926 | - Mz ! ;
‘ wl & oL % 179 o % 1 ; 20 26 N ER
&Q 2 Q i NN ! A © I Nu& IS N [~ % - N [‘—’M O ER
N ‘ | SN | : |
N s ; R |
14 ?18 N I ; Soliln)
Figure M &) W12 capscrownoe &) W16 Capserewho . 914 18 i
w & M12 Cap-Screw hole ] M16 Cap-Screw hole ;“wﬂr‘u
. dld
Figure N Figure N -
MODEL NO. A B C M \| kg MODEL NO. A B C M \| kg
BP35- -0100-12 1 - - -
35-085085-0100 85 00 85 | m12 | m12 | 3.64 BP36-135085-0100-12 135 100 85 | m12 | m12 | 5.76
BP35-085085-0125-12 125 BP36-135085-0125-12 125
BP35-085085-0100-16 100 - - -
85 85 | M16 | M16 | 4.13 BP36-135085-0100-16 135 100 85 | M16 | M16 | 6.53
BP35-085085-0125-16 125 BP36-135085-0125-16 125
*Special Design Welcome ! *Special Design Welcome !

1-35 BASE SERIES BASE SERIES 1-36



LEAVE INDUSTRIAL ‘LENE.“@

H/CAST SECTION
© Material: Cast Iron FC300(JIS) / GG30(DIN) WE CAN BUILD YOUR OWN SPECIAL DESIGN

° Heat treated (Normalized) UP TO 1500mm x 1500mm x 1500mm

° Features: Easily adapts to standardized jig components.

BN

Bie
; S
‘ ‘25
© O .

A
70
| : | 50
Gj/ 1. / | ///
ol w +—- +—— & o I T
©
Figure M
/G} i &) SVE
oL LL—J
€ ALY
| 35 |
G T
AVAVAVA — M —
Qo © \@ T s OK®
| o VISE
3 |
[N T -
ONHER
| _
L s [ Bk 2L
G o
S

MODEL NO.
BP37-120180-0150-16 | 120 | 150 | 180 | 150 | 60 | 135 | 120 | 123 | 50 | M16 | 17 | 15.5

J

S
-
I«

*Special Design Welcome ! A J

1-37 BASE SERIES BASE SERIES 1-38



1-39 BASE SERIES




.

|

|

= LEAVE INDUSTRIAL ‘ .®
LEA'E

BPAO~7 o

7

© Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.
Eye bolt & Top cover included.

: eee?
004y |geee’
AR ee®
SQUARE TOOLING COLUMN o SQUARE TOOLING COLUMN
LY e
© Material: High Strength Aluminum Casting. k) LY g ¢ o Material: High Strength Aluminum Casting.
o Application: Horizontal Machining Center. t 8oy ® PR % o Alignment bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated
o Features: Ready to accept a hole pattern for your special jig. : 8o, ae® g4 o Threaded Insert: S45C(JIS) / CK45(DIN), heat treated
o Eye bolt & Top cover included. i< S0, 3 g0 ? e : o MTP hole spacing: 50+0.02 B
J ) U i o Application: Horizontal Machining Center.
')
. . G

©

35S
8 T Jo02500[Z] B T Jo0200[Z]
‘ D ‘ D |
\vavavA l\ \vavavA \ i\%
N /@E é o ] Aog é © o 12888 o e1e0% cp
Il Il . . —
. + . T . o % ‘ o A |
9. 9. 1000 T
o o +ot—o— Lot o o +& 00— <o %M AL %
AN 4 N 4 t T
1 1 M12x1.75 M16x2 3 U
. ? . f c Figure T
t e t e
e ¢ % R e
A M16 Cap-Screw hole M16 Cap-Screw hole
z (Find in Page 7) z (Find in Page 7) I
0.02/300| Y 0.02/300| Y
1 Tooez00] ] L looz0[Y] JTovzn[Z]
//10.02/300 //T0.02/300] 2 //T0.02/300 L [0.021300] Y]
_| 10.02/300|Y |z | To.02/300]Y _| |0.02/300|Y |z C SVE
‘ C ‘ ‘ C ‘ ‘ C ‘ 50+0.02
| ‘ | | ‘ | | ‘ ! !
@?z?? @?29?
66 9 6 o 06 oo o
© 0 & 0 o ©0 6 0 o ALY
Heodool Heedoo
66 © 6 o 06 6 © o
< WQi@@ |, — T- MTP hole o @Wi@@
610 © 6 o Sl l o000 0 DK
@c@@@@/ 3 e:0 © © o 3-N b
3 = VASE!
00 i ° @ ) i ® o
00 © © © © < o0 © © ©
S
‘ 3 ‘
o o J | !
Y I - °““¥‘4i:f Sl - | " i OFHER
) FIF ]
ot
Mounting Mounting Mounting jor
MODEL NO. punt MODELNO. A B C D E F G T WMP"e™ | MODELNO. A B C D E F G T NP ' kg SN
- - y .0500- y 0500- Dadtd)
BPA07-400400-0500 | 500 400 | 250 | 320 | 200 | 55 | 40 4 56 BPA08-400400-0500-12 | 500 1001250 | 320 | 200 | 551 40 | g2 M12£ 4 54 || BPA8-400400-0500-16 | 500 1001250 |30 |20 | 551 40 | %6 it 128 4 ﬂ
BPA07-400400-0650 | 650 73 BPA08-400400-0650-12 | 650 176 73 || BPA08-400400-0650-16 | 650 176 73
BPA07-500500-0600 | 600 500 | 300 | 400 | 250 | 75 | 40 8 91 BPA08-500500-0600-12 | 600 500 1300 [ 400 | 250 | 75140 | g2 M12ﬂ 8 88 || BPA08-500500-0600-16 | 600 500 1300 Lo 350 75140 | 16 | s 200 5 ﬂ
BPA07-500500-0750 | 750 122 BPA08-500500-0750-12 | 750 260 122 || BPA08-500500-0750-16 | 750 260 122
- - BPAO8- -0700-12 | 7 2 126 || BPAQS- -0700-16 | 7
BPA07-630630-0700 | 700 630 | 350 | 500 | 315 | 100 | 50 8 129 06306300700 0 630 | 350 | 500 | 315 {100 | 50 | @12 M12i 8 5 OBES630.070016 | 700 630 | 350 | 500 | 315 | 100 | 50 | 16 M16ﬂ 8 ﬂ
BPA07-630630-0850 | 850 180 BPA08-630630-0850-12 | 850 360 180 || BPA08-630630-0850-16 | 850 360 180
- - BPA08-800800-0800-12 | 800 - -0800-
BPA07-800800-0800 | 800 800 | 500 | 640 | 400 | 135 | 50 8 215 800 | 500 | 640 | 400 | 135 | 50 | @12 M12ﬂ 8 204 || BRAOE 300800080016 | 800 800 | 500 | 640 | 400 | 135 | 50 | @16 | M16 —504 8 E
BPAQ7-800800-1000 | 1000 312 BPA08-800800-1000-12 | 1000 648 312 || BPA08-800800-1000-16 | 1000 648 312

*Special Design Welcome ! *Special Design Welcome !

2-1 HIGH STRENGTH ALUMINUM BASE SERIES HIGH STRENGTH ALUMINUM BASE SERIES 2-2



.
F

|

= LEAVE INDUSTRIAL ‘ .®
LEA'E

SQUARE TOOLING COLUMN

© Material: High Strength Aluminum Casting.

o Application: Horizontal Machining Center.

o Features: T-Slots running horizontally, key-way running
vertically, easily adapts to standardized jig components.

o Eye bolt & Top cover included.

DOUBLE SIDED TOOLING COLUMN

Material: High Strength Aluminum Casting.

Application: Horizontal Machining Center.

Features: Ready to accept a hole pattern for your special jig.

Eye bolt & Top cover included. B

©

©

©

©

B
T owanZ] T [o0z00]z]

\
)NE
©—t |O
@ —

JAVAVA

|
AN
O+ U m
@//—
(2
au

+0.018
0

L J

t
‘ K Sz 7l 0 :
=) %%chﬁé 7 : ‘ ! ol o —E*f ]"J( 74}**
ale 7 | a U o
K@ - '%' . Figure K Figure J
X N X
[AVAVAY M16 Cap-Screw hole ? M16 Cap-Screw hole Pl

(Find in Page 7)

(z > (Find in Page 7)
0.02/300 | Y
T V] | [o.02300]Y] //10.021300]
//0.02/300 //10.02/300] | [o.02/300] Y
| |0.02/300|Y |z | |0.02/300| Y H | C | SVF
‘ ) | ‘ |
| | {
3 ‘ ‘ ALY
] < | |
<C
| | | aN OK-
‘ ‘ / VISE
] [0) | ° { ® , ‘ [ ‘
FIF E | 25 OIHER
TR e s
column|
Mounting Mounting Mounting fur
MODEL NO. A B C D E F G H J " K MODEL NO. A B C D E F G H J "W i MODEL NO. A B C D E F G H '"umn g it
BPACS-A00400-000-14 | SO0 | o1 1 920 (300 | 200 | 55| a0 | 100 | 14| 4 |-S1 | BPAOSAO0A0000M8 | SO0} )t och | aon {00 | 55 a0 100 |18| 4 |- BPA10-400400-0500 | 500 | 5, | 450 | 320 | 200 | 55| 40 | 400 4 62
BPAQ9-400400-0650-14 | 650 84 || BPA9-400400-0650-18 | 650 84 BPA10-400400-0650 | 650 86
DPALS SO0SUOB014 | 500 e | 30| 400 | 250 | 75|40 100 14| & |- oof SPAOOSHUSDOOUOTEL OO0y g | gy | g | 75140 100 | 18| 8 | BPA10-500500-0699 | 89 | 500 | 200 | 400 | 250 | 75|40 | 500 | 6 %
BPA09-500500-0750-14 | 750 127 || BPA9-500500-0750-18 | 750 135 BPA10-500500-0750 | 750 135
BPAOS.630630-0700-14 | 700 | oot 1 350 | 00 | 315 [ 100 | 50 125 | 14| g |10 || BPAOSGS0S0T00B | 100 ol och oo | 315 | 100 50| 125 [ 18] 8 L] BPA10-630630-0700 | 700 | oo | 550 | 500 | 315 | 100 | 50 | 630 6 176
BPA09-630630-0850-14 | 850 183 || BPA09-630630-0850-18 | 850 183 BPA10-630630-0850 | 850 202
BPACS-800800-0800-14 | 800 | o1 1 500 | an | 400 | 135 | 50 [ 150 | 14| 5 |20 | BPAQC-B00B00080018 | 800 | ooyt oot eag g0 |15 50 [ 150 18| 8 |22 BPA10-800800-0800 | 800 | o) | 55 | 640 | 400 | 135 | 50 | 800 6 217
BPA09-800800-1000-14 | 1000 319 | BPA9-800800-1000-18 | 1000 319 BPA10-800800-1000 | 1000 318

*Special Design Welcome ! *Special Design Welcome !

2-3 HIGH STRENGTH ALUMINUM BASE SERIES HIGH STRENGTH ALUMINUM BASE SERIES 2-4



® ® ® ® ® ® ® ®®
® ® ® ® ® ® ® @ ®

® ® ® ® ® ® ® @ ®

® ® ® ® @ @ ® @ ®

® ® ® ® ®© ® ® ® ©®

LEAVE INDUSTRIAL ‘ .®
LEATE

DOUBLE SIDED TOOLING COLUMN

o Material: High Strength Aluminum Casting.

o Alignment Bushing: SUJ2(JIS) / 100Cr6 (DIN), heat treated

o Threaded Insert: S45C(JIS) / CK45(DIN), heat treated

o MTP hole spacing: 50+0.02

o Application: Horizontal Machining Center.

o Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

o Eye bolt & Top cover included.

B | Jo.021300] 7]
‘ D
\ ‘
Bz ® IN R R
SAL7 O
. . . © V ‘ V !
LT DN 7 & 71 |
=l | F—D1t 7 a7
. . . M12x1.75 miex2 | |
Figure T
I S
‘ M16 Cap-Screw hole
B (Find in Page 7)
V4
_| [0.027300] ] //T0.021300|
H _| |0.02/300 Y
50+0.02 | c ‘
| .
9000000000 \
[N IR OB R R R R R ) |
e OO 00 00 & 6
(o IR OB R K R R O]
OFr0 © © © O & © © O
0:® © © © O 6 © O b
T- MTP hole
< 5}:@0@@@@@@@@@/
“:f 00000000 o6 3-N
00 © © © O O © O b /
; ®A©©@©‘@@®@@2 ‘ | ©
wn Il
(IR T T re— wp_l— [P —
FLF E 25
" e | 1
Mounting Mounting
MODELNO. A B C D FGH T MP™™ k| MODELNO. A B C D E F G H T NPk
BPATH-AOU000012 | 001 13 |1 500 | 200 | 55 40| a0 | gt rg 12| 4 |58 ) BPATHAOOAOROS000 | 001 e o g | 5| a0 a6 i L 2d 4 |-
BPA11-400400-0650-12 | 650 176 86 || BPA11400400-0650-16 | 650 176 8
BPATT-SOOSO0060012 | 600 s o g | 230 | 75 40 | 500 | gt g |20 | g[S BPA-SOOSO0060016 | 6001 oo o g g0 | 75| a0 500 | 6 i -2l 6 L]
BPAM-500500-0750-12 | 750 20 135 || BPA11-500500-0750-16 | 750 20 13
BPATH- 630630070012 | 00| ¢y g5 500 | at5 | 100 | 50| 630 | 12 g |20 | g 154 | BRATHOSOBSDOT00TE | 7001 oo bocn g 5 100 | 50 | 630 | 6 i |2 6 |
BPA11-630630-0850-12 | 850 30 202 || BPA11-630630-0850-16 | 850 30 20
BPA1-800800-0800-12 | 800 40 214 || BPA11-800800-0800-16 | 800 40 A
800 | 300 { 640 [ 400 | 135 | 50 | 800 | 912 [M12 — 6 800 | 300 | 640 | 400 | 13550 | 800 | @16 | M16 — 6 —
BPA11-800800-1000-12 | 1000 540 318 || BPA11-800800-1000-16 | 1000 540 38

*Special Design Welcome !

2-5 HIGH STRENGTH ALUMINUM BASE SERIES

DOUBLE SIDED TOOLING COLUMN

o Material: High Strength Aluminum Casting.

o Application: Horizontal Machining Center.

o Features: T-Slots running horizontally, key-way running
vertically, easily adapts to standardized jig components.

o Eye bolt & Top cover included.

B T 0025002
‘ D ‘
\ ‘ K
——4; é p O
L\/ J +0.018 +(§l018
AR
- Y - ‘9 V ‘ W ,1,
o of HI BT / A
Jit oy
Ed T * /% I i
Figure M Figure J
A \ @ ? % —_— ——
‘ M16 Cap-Screw hole
7 (Find in Page 7)
//10.02/300| z
i | _{0.02/300| Y
‘ H - Cc _
\ | ‘ |
:::::::::::::m::::::::::::: = \ &
|
m = £
J -T Slots
—_— B =
o
< S
************************** o N o
************************** ? 5 /B-N
ii::::"iﬂ:::::: < S &
[ee] g oo
' | . sL | *‘
1o [ o1 S| ;lz':?
FIF \ E 25
M i FLE | 1
MODELNO. A B C D E F G H J K " g MODELN. A B C D E F 6 H J K "W g
BPATZ-A00A00O004 | SO0 o0 1 450 320 % 40| a0 | 14100 | 4 | COJ{BOMIZA00A0ONCAE| SO0| \ooticot oo og0 | 5540 400 |18 | 00| 4 X
BPA12-400400-0650-14 | 650 92 || BPA12-400400-0650-18 | 650 ®
BPATZSU0500-0600-14 | 600 ¢ 1 900 | 490 75 40| 500 | 14 100 | 6 |-ST|[BAZS00S00060E | 600 oo oot agn | 250 | 7540 500 |18 | 00| & |-
BPA12-500500-0750-14 | 750 142 || BPA12-500500-0750-18 | 750 142
BPATZG306300700-14 | 700 | oo 929 | 500 100 |50 (630 |14 | 125 | g |00 | BPATZES0GS0TTO08 | 700 cootoch Veng (315 [ 100 50 [630 | 18| 125| 6 O
BPA12-630630-0850-14 | 850 212 || BPA12-630630-0850-18 | 850 212
BPATZ-B0800 0800-14 | 800 | o301 309 | gap 135 |50 |a00 |14 | 150 | g | 203| BPATZBO0ROODSO08 | 800 oot oy et (oo [ 13550 [a00 18] 150| 6 |2
BPA12-800800-1000-14 | 1000 325 || BPA12-800800-1000-18 | 1000 325

*Special Design Welcome !

I

ALY

UKE
VASE

O ERS

Coluy)
fur
JECHNICA]

HIGH STRENGTH ALUMINUM BASE SERIES 2-6



2-7 HIGH STRENGTH ALUMINUM BASE SERIES



	頁面 1
	頁面 2
	頁面 3
	頁面 4
	頁面 5
	頁面 6
	頁面 7
	頁面 8
	頁面 9
	頁面 10
	11: BP-20修
	頁面 12
	頁面 13
	頁面 14
	頁面 15
	頁面 16
	頁面 17
	頁面 18
	頁面 19
	頁面 20
	頁面 21
	02_High Strength Aluminum Base Series.pdf
	頁面 1
	頁面 2
	頁面 3
	頁面 4
	頁面 5


